
Inclusion
-
Exclusion
-

Basic setting :

", 1AuBl = (A) + 1B1-lAnBlGOL&⑪
A B (why ?)

Example : 50 socks-"5 black
e

so cotton

How many are black and cotton ?

Black

Eston
i

E (Avi)=(Al+1B1-AMBI
A

B
50 = 35 + 30-1AMB/
(AnB) = 15





Whitworks ?

Consider an element that is ina sets.

-
It belongs to (i) Sets

-
It belongs to (2) pairs of sets .

-
It belongs to (5) triplets of sets

i
- It belongs to (n) n-tuple of Sets

#times element is = (Y) - () + (3) - (4) + ... +Ht()
added

= (o) - ((b) - (i) + (2) - ()+ -- - + ((()]
= In on (n

= 0 : 1 -0 = 10

n30 : 1 - % = 10=










